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Answer The addition questions.

0+]=
4+ =
6+3=
0+8=
8 +]=
0+10=
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|\\\ CCSS 2.0A.2 Fluently add and subtract
. Name: within 20

Adding 9

& Directions: Find the sums.

I

i

i

!

I

i

S 3 2 9
B S T B
i

i

:6 8 5 9
9 +9 7 +9 +2
i

i

:4 9 6 3 2
9 1 +9 +9 +9
i

i

:9 8 9
1 +0 9 +4 8
i

:

:2 9 6 8 1
1 +5 +9 +9 +9
!

i

i
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|\\\ CCSS 2.0A.2 Fluently add and subtract
i  Name: within 20

Adding Doubles

- &9 Directions: Solve by finding the sums.
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|

|

|

|

|

.5 4 3 2 9
45 +4 3 2 +9
|

|

|

L6 8 7 5

i 6 +8 £7 +5 +1
|

|

|

4 9 6 3 2
4 +9 +6 +3 +2
|

I

0 7 8 5 9
A R R
|

|

2 4 6 8 3
! +2 +4 +6 +8 +3
|

|

|

|

|

|

|
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|\\\ CCSS 2.0A.2 Fluently add and subtract
. Name: within 20._..

Adding Doubles

&/ Directions: Solve by finding the sums.
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|

!

!

|

I

!

: 5+5= ded= 2+2= 3+3= 7+7=
i

! 1+1= 6+6=_ 8+8= 9+9= 1+1=
|

!

! 3+3= 5+H= 7+7=__ 6+6=__ 4+44=
|

i

! 2+2=_ 6+6=_ I+1= 4+4= 8+8=
!

!

| 9+49=_ T+7=__ B+b=_ 8+8= 1+41=
!

|

i 4+44= 8+8=_ 1+1= 2+2=_ 9+9=_
i

|

| 7+7=__ 2+2=_ 3+3=_ 8+8=_ B+b=_
i

|

i 6+6:_ 3+3:_ 7+7:_ 6+6:_ 3+3:_
|

: B4z 747z 4ed=__ 242z 4ed=
|

: 7+7= 6+6= 343z 8+8= 9+9=
i

!

!

!

!
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|\\\ CCSS 2.0A.2 Fluently add and subtract
. Name: within 20._..

Adding Doubles

&/ Directions: Solve by finding the sums.

!

|

!

!

3

;

| 5+5= 4ed= 2+2=__ 3+3=__ T+7=____
: {+l=_ 6= 8:8=_ 940=_ 1+l=___
i 3+3=_ 5+H=__ 7+7=__ b+6=__ 4+4=__
: S 646 f+l=___ 4eld=___ 8+8=___
i 0+0=_ T7+7=_ 5+H5=__ 8+8=_ 141=___
: Aed= 8+8=_ lel= 242=___ 9+9=___
i 7+7=__ 2+42=_ 3+3=_ 8+8=__ 54B=____
: b+6=_ 3+43=_ T+7=___ 6+6=__ 3+3=___
i 5+5=_ 7+7=_ Aed= 2+2=__ A+d=_
: 747= Gia-. 3+3=_ 8+8=_ 949=___
i B5+5=_ A+4d= 2+2=___ 3+43=___ T+7=___
: 1+1=_ b+6=____ 8+48=_ 9+9= 1+1=___
i 3+3=_ 5+5=____ 7+7=___ 6+b=___ A+4=_
: 2+2=__ b+6=_ 1+1=__ 444=__ 8+8=____
i 9+9= 7+7=____ 545z 8+8=_ 1+1=__
: Aed= 8+48=_ 4l=_ 2+2=__ 9+40=_
i 7+7= 242=_ 3+3=_ 8+8=_ 5+b=____
: b+b=__ 3+3=_ TH7=___ 6+6=__ 3+43=___
: B+B=_ 7aT=__ bed=___ 2+2=___ 4ed=___
i 7+7=_ b+6=_ 3+43=__ 8+48= 9+9=_
I

! ® www.2ndgradeworksheets.net 3
I



